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1:hanne| Enabled, DAC=4000, Fit Start Time vs 18*Chip+Chan
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|Disab|ed 0, DAC=4000, Fit Baseline vs 18*Chip+Chan
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|Disab|ed 1, DAC=4000, Fit Baseline vs 18*Chip+Chan
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|Disab|ed 2, DAC=4000, Fit Baseline vs 18*Chip+Chan
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|Disab|ed 3, DAC=4000, Fit Baseline vs 18*Chip+Chan
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|Disab|ed 4, DAC=4000, Fit Baseline vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=30, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=35, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=40, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=45, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=50, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=55, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=60, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=65, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=70, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=75, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=80, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=85, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=90, ADC Mean vs 18*Chip+Chan

50008° ©® oo ©° &$
” o o °® o
L o ° [
4000 —
3000 —
2000 :—
1000 _—. .
- g W P
o ‘g ‘A M
B | | | | | | | | | | | | | | | |
0 20 40 60 80 1oo

Enable 0, DAC=4000, Hold=90, ADC Noise vs 18*Chip+Chan

35—

30

IARRRSAREEER

20

15

=
o

oc& |

#** ﬁ&%ﬁ% *%*é%*e@b##éﬁ

20 80 100



Enable 0, DAC=4000, Hold=95, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=100, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=105, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=110, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=115, ADC Mean vs

18*Chip+Chan
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Enable 0, DAC=4000, Hold=120, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=125, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=130, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=135, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=140, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=145, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=150, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=155, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=160, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=165, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=170, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=175, ADC Mean vs 18*Chip+Chan

o
800 ¢ Py
- %Y °
600l ©Geo ()
- %e 0~
e o ©® °
400 — ¢ e ° °
N o o @ ¢ of
B e O ° ° o® o
200{— oo ® o ® ° o
B f od o .0.‘ a '. o®
oF 4 Gog0 Y ot
B o o @
B o
-200 | o
— o
: 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1
0 20 40 60 80 100
Enable 0, DAC=4000, Hold=175, ADC Noise vs 18*Chip+Chan
¢ ®
. i
* |y &
8 ®

I|IIIc:IIII:i"=I":




Enable 0, DAC=4000, Hold=180, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=185, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=190, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=195, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=200, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=205, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=210, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=215, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=220, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=225, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=230, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=235, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=240, ADC Mean vs 18*Chip+Chan
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Enable 0, DAC=4000, Hold=245, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=30, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=35, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=40, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=45, ADC Mean vs 18*Chip+Chan

o0 oo ® o

10000 |— e . o O o ¢
- °
8000 —
6000 |—
4000 |—
2000 |—

PodPogy
ol warpa® PPNl ggrg,

Enable 1, DAC=4000, Hold=45, ADC Noise vs 18*Chip+Chan

0 20 40 60 80 100

R
O Eﬁéﬁ@@éﬁﬁ#ﬁj& %ﬁ*&%ﬁt

0 20 40 60 80 100



Enable 1, DAC=4000, Hold=50, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=55, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=60, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=65, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=70, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=75, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=80, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=85, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=90, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=95, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=100, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=105, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=110, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=115, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=120, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=125, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=130, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=135, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=140, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=145, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=150, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=155, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=160, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=165, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=170, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000

, Hold=175, ADC Mean vs 18*Chip+Chan

1000 —
B ®
800 hJ % o
e %%, \ °
B o
600 |— ° %
@ ‘0 o0
- o o ° ® oo
400 — ® o P ...
B [ ]
- o ° % ,0
200 ) ° e ¢
N ?.. * r’ o & o P
- o080 o o ®
0}— ° ) @ ®
— @
L o
-200 L o
B 1 1 1 | 1 1 1 | 1 1 | 1 1 | 1 1 1 | 1
0 20 40 60 80 100
Enable 1, DAC=4000, Hold=175, ADC Noise vs 18*Chip+Chan
12—
B ®
1019,
:.- 1 |® ®
L PO )
8 o ¢
61— %*% + %
41—
= | | | | | | | | | | | | | | | | | | |
0 20 40 60 80 100




Enable 1, DAC=4000, Hold=180, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=185, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=190, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=195, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=200, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=205, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=210, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=215, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=220, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=225, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=230, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=235, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=240, ADC Mean vs 18*Chip+Chan
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Enable 1, DAC=4000, Hold=245, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=30, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=35, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=40, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=45, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=50, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=55, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=60, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=65, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=70, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=75, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=80, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=85, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=90, ADC Mean vs 18*Chip+Chan

® o at ° ® o

5000 ° o o

4000
3000

2000

1000

}
{

o

-1000

20 40 60 80 100

CD||||||||||

Enable 2, DAC=4000, Hold=90, ADC Noise vs 18*Chip+Chan

40

35

30

25
20
15
10

s I A,

:fﬁm||||||

o

20 40 60 80 100



Enable 2,

DAC=4000, Hold=95, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=100, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=105, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=110, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=115, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=120, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=125, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=130, ADC Mean vs 18*Chip+Chan
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Enable

2, DAC=4000, Hold=135, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=145, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000

Hold=150, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=155, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=160, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=165, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=170, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=175, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=180, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=185, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=190, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=195, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=200, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=205, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=210, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=215, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=220, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=225, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=230, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=235, ADC Mean vs 18*Chip+Chan

1000

800

600

400

200

0

-200

-400

-600

-800

® T
by
.‘

y
S

o

Enable 2, DAC=4000, Hold=235, ADC Noise vs 18*Chip+Chan

16

14




Enable 2, DAC=4000, Hold=240, ADC Mean vs 18*Chip+Chan
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Enable 2, DAC=4000, Hold=245, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=30, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=35, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=40

, ADC Mean vs 18*Chip+Chan

12000

10000

8000

6000

4000

2000

]

o|||

20

Enable 3, DAC=4000, Hold=40,

ADC Noise vs 18*Chip+Chan

18

16

14

12

10

II|'I_I._1:|'$1|III|III|I:||i|5|i|||:|I

M@ } tﬂ

t

o

60 80 100




Enable 3, DAC=4000, Hold=45, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=50, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=55, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=60, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=65, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=70, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=75, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=80, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=85, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=90, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=95, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=100, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=105, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=110, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=115, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=120, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=130, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=140, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=145, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=150, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=155, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=160, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=165, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=170, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=175, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=180, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=185, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=190, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=195, ADC Mean vs 18*Chip+Chan
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3, DAC=4000, Hold=200, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=205, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=210, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=215, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=220, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=225, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=230, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=235, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=240, ADC Mean vs 18*Chip+Chan
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Enable 3, DAC=4000, Hold=245, ADC Mean vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=30, ADC Mean vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=35, ADC Mean vs 18*Chip+Chan

12000

Aan
L
%
*
o
L
4
4
o
o

10000

8000

6000

4000

2000

|

o|||
N
=)
D
o)
o
o
0
S

Enable 4, DAC=4000, Hold=35, ADC Noise vs 18*Chip+Chan

14

12

10

%




Enable 4, DAC=4000, Hold=40, ADC Mean vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=45, ADC Mean vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=50, ADC Mean vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=55, ADC Mean vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=60, ADC Mean vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=65, ADC Mean vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=70, ADC Mean vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=75, ADC Mean vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=75, ADC Noise vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=80, ADC Mean vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=85, ADC Mean vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=90, ADC Mean vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=95, ADC Mean vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=100, ADC Mean vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=105, ADC Mean vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=105, ADC Noise vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=110, ADC Mean vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=115, ADC Mean vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=115, ADC Noise vs 18*Chip+Chan

14

12

10

E‘* i

C3|||||||-|




Enable 4, DAC=4000, Hold=120, ADC Mean vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=125, ADC Mean vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=125, ADC Noise vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=130, ADC Mean vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=135, ADC Mean vs 18*Chip+Chan

2000 =
B °
@ ® ®
1500 — o ()
: L) ® [ )
B ° o® ° o
— o
1000 |—
= o
)
o%’n.\ .
- o
500 |— J’&‘ F oo
0 AL
u L Yo FY
= ) o ()
0}— $ N o®
: L L ! I I [
0 20 40 60 80 100
Enable 4, DAC=4000, Hold=135, ADC Noise vs 18*Chip+Chan
14 =
12—
- B "
1017 T
8%
4l +
— | | | | | | | | | | | |
0 20 40 60 80 100




Enable 4, DAC=4000, Hold=140, ADC Mean vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=150, ADC Mean vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=155, ADC Mean vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=160, ADC Mean vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=165, ADC Mean vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=175, ADC Mean vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=180, ADC Mean vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=185, ADC Mean vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=190, ADC Mean vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=190, ADC Noise vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=195, ADC Mean vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=200, ADC Mean vs 18*Chip+Chan
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Enable 4, DAC=4000, Hold=205, ADC Mean vs 18*Chip+Chan
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Chip 0, Channel 0, Enable 0!, DAC=4000, ADC Mean vs Hold |
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| Chip 0, Channel 0, Enable 2, DAC=4000, ADC Mean vs Hold | | x°/ndf 126.9/38
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Chip 0, Channel 0, Enable 3, DAC=4000, ADC Mean vs Hold | x° / ndf 123.4/38
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| Chip 0, Channel 0, Enable 4, DAC=4000, ADC Mean vs Hold
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| Chip 0, Channel 1, Enable 1, DAC=4000, ADC Mean vs Hold | | x°/ndf 87.77138
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Chip 0, Channel 1, Enable 3!, DAC=4000, ADC Mean vs Hold
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| Chip 0, Channel 1, Enable 4, DAC=4000, ADC Mean vs Hold |
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Chip 0, Channel 2, Enable 0!, DAC=4000, ADC Mean vs Hold || X°/ndf 278.5/39
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Chip 0, Channel 2, Enable 1, DAC=4000, ADC Mean vs Hold | | x°/ndf 119.3/38
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Chip 0, Channel 2, Enable 2, DAC=4000, ADC Mean vs Hold | | x°/ndf 132.8/38
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Chip 0, Channel 2, Enable 3, DAC=4000, ADC Mean vs Hold

840

830

820

810

800

790

780

770

'IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

x° / ndf 101738

p0 527.3+ 1.483
pl -12.12+1.784
p2 333.8+1.242

31.24 £ 1.447
-0.1594 + 0.01162

Chip 0

, Channel 2, Enable 3, DAC=4000, ADC Noise vs Hold

13
12

11

10

'III|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|

Chip 0, Channel 2, Enable 3, DAC=4000, ADC Residuals vs Hold

8

6

4

=
i

[
o



Chip 0, Channel 2, Enable 4, DAC=4000, ADC Mean vs Hold
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Chip 0, Channel 3, Enable 4, DAC=4000, ADC Mean vs Hold | | x°/ndf 381.2/31
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Chip 0, Channel 4, Enable 4!, DAC=4000, ADC Mean vs Hold
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Chip 0, Channel 5, Enable 1!, DAC=4000, ADC Mean vs Hold || X°/ndf 311/39
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Chip 0, Channel 6, Enable 1, DAC=4000, ADC Mean vs Hold
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| Chip 0, Channel 6, Enable 3, DAC=4000, ADC Mean vs Hold | | x°/ndf 119.6/38
p0 486.3+ 3.173
= pl -0.4549+ 0.9713
760 — p2 292.9+ 3.231
B 28.57+ 0.8722
: -0.173+ 0.008878
740 _— .
720 _—
700 —
680 L

| Chip 0, Channel 6, Enable 3, DAC=4000, ADC Noise vs Hold |

14
12

10

gy Hﬂ;% ARt

50 100 150 200 250

©
'II|III|III|III|III|III|I

| Chip 0, Channel 6, Enable 3, DAC=4000, ADC Residuals vs Hold |

8

6

4

—@—
—@—
—@—
—@—

+
NI

—@—
—@—
—@—

'III|III|III|III|III|III|III|III|III|I

[
o
Juny
o
o
Juny
Q-
o
N
o
o
N
(4] ™=
o



| Chip 0, Channel 6, Enable 4, DAC=4000, ADC Mean vs Hold | | x°/ndf 100.1/31
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Chip 0, Channel 7, Enable 4, DAC=4000, ADC Mean vs Hold
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Chip 0, Channel 9, Enable 0!, DAC=4000, ADC Mean vs Hold | X° / ndf 221.4 /39
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Chip 0, Channel 9, Enable 1, DAC=4000, ADC Mean vs Hold |
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Chip 0, Channel 9, Enable 2, DAC=4000, ADC Mean vs Hold
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| Chip 0, Channel 9, Enable 3, DAC=4000, ADC Mean vs Hold | | x°/ndf 126.7/ 38
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| Chip 0, Channel 10, Enable 0, DAC=4000, ADC Mean vs Hold || x°/ndf 183.3/38
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| Chip 0, Channel 10, Enable 1, DAC=4000, ADC Mean vs Hold || x°/ndf 95.47/38
p0 469.7 + 3.265

740 pl 3.813+ 0.952
230 p2 276.6 + 3.313
p3 25.02 + 0.827

720

-p4 _ -0.1571+ 0.008388
."%F-—-!.,..‘.,
700
690
680
670
660

650

| Chip 0, Channel 10, Enable 1, DAC=4000, ADC Noise vs Hold |

12

11

10

—@—
—@—
—@—

o
'III|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II

al
o
=
o
o
-
a
o
N
o
o
N
A
o

| Chip 0, Channel 10, Enable 1, DAC=4000, ADC Residuals vs Hold |

10

—@—

'||||||||||||||I|\)|||T||||||||||||||||||||||

@

ey

W

.
—o5.
—
—— =
i

35

[
o
Juny
o
o
Juny
Q-
o
N
o
o
N
(4] ™=
o



| Chip 0, Channel 10, Enable 2, DAC=4000, ADC Mean vs Hold || x°/ndf 107.7/ 38
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Chip 0, Channel 10, Enable 4, DAC=4000, ADC Mean vs Hold || x°/ndf 71.92/31
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Chip 0, Channel 11, Enable 0!, DAC=4000, ADC Mean vs Hold X° / ndf 4225139
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Chip 0, Channel 11, Enable 1, DAC=4000, ADC Mean vs Hold |
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Chip 0, Channel 11, Enable 2, DAC=4000, ADC Mean vs Hold || x°/ndf 86.16 /38
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Chip 0, Channel 11, Enable 3, DAC=4000, ADC Mean vs Hold
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Chip 0, Channel 11, Enable 4, DAC=4000, ADC Mean vs Hold
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| Chip 0, Channel 12, Enable 0, DAC=4000, ADC Mean vs Hold | X° / ndf 134.6/38
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| Chip 0, Channel 12, Enable 2, DAC=4000, ADC Mean vs Hold || x°/ndf 142.8/38
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Chip 0, Channel 12, Enable 4, DAC=4000, ADC Mean vs Hold
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Chip 0, Channel 13, Enable 0, DAC=4000, ADC Mean vs Hold | X° / ndf 478.5/38
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Chip 0, Channel 13, Enable 1, DAC=4000, ADC Mean vs Hold || X°/ndf 594.7/38
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Chip 0, Channel 13, Enable 2, DAC=4000, ADC Mean vs Hold || X°/ndf 288.1/38
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Chip 0, Channel 13, Enable 3, DAC=4000, ADC Mean vs Hold || x°/ndf 355.5/38
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Chip 0, Channel 13, Enable 4!, DAC=4000, ADC Mean vs Hold X° / ndf 100.8 /32
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Chip 0, Channel 14, Enable 1!, DAC=4000, ADC Mean vs Hold
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Chip 0, Channel 15, Enable 3, DAC=4000, ADC Mean vs Hold || x°/ndf 118.2/38
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| Chip 0, Channel 16, Enable 3, DAC=4000, ADC Mean vs Hold || x°/ndf 64.78 / 38
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| Chip 0, Channel 17, Enable 1, DAC=4000, ADC Mean vs Hold | X° / ndf 107.1/38
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Chip 0, Channel 17, Enable 2!, DAC=4000, ADC Mean vs Hold
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| Chip 1, Channel 0, Enable 2, DAC=4000, ADC Mean vs Hold | | x°/ndf 116/38
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| Chip 1, Channel 0, Enable 4, DAC=4000, ADC Mean vs Hold | | x°/ndf 203.8/31
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Chip 1, Channel 1, Enable 1, DAC=4000, ADC Mean vs Hold |
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Chip 1, Channel 1, Enable 4, DAC=4000, ADC Mean vs Hold

211.2/31

251.1+ 0.5124

260

250

240

230

220

210

200

190

180

1 IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|

170

76.47 + 0.6612
-2.266e+07 + 7.926e+05
1.481e+07 £ 4.461e+05
1.364 + 0.03118

1

20

120 160 180 200 220

Chip 1, Channel 1, Enable 4, DAC=4000, ADC Noise vs Hold

10

-IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

1

N

20

140 160 180 200 220

Chip 1, Channel 1, Enable 4, DAC=4000, ADC Residuals vs

Hold

10

-10

120

140 160 180 200 220



| Chip 1, Channel 2, Enable 0, DAC=4000, ADC Mean vs Hold | | x°/ndf 2216 /38
p0 178.4 + 0.05891
= pl 235+ 1.688
180 — p2 -112.9+ 0.05931
— @ ® .‘Q .Q -p3. - 55.7 + 0.05932
170 F— ..m 0 $8007% 4o — - - ___ 0.1006  0.002377
- Yo ©
— . . .
160 —
- ®
— L
150 —
140 — ®
- ®
130 —
- [
120— @
1_— 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1
50 100 150 200 250

| Chip 1, Channel 2, Enable 0, DAC=4000, ADC Noise vs Hold |

12

11

10

Tl gt R

50 100 150 200 250

©
III|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III

| Chip 1, Channel 2, Enable 0, DAC=4000, ADC Residuals vs Hold |

®
10 ‘......Q “...Qj.j o
® Q... Q. é P
o %o
[

-10

-20

-30

-40




| Chip 1, Channel 2, Enable 1, DAC=4000, ADC Mean vs Hold | | x°/ndf 1802 /38
p0 181.3+ 0.8751

pl 235.6 + 5.982

200 p2 -167.8+ 211

o,® 0009 0 | 3 55.44 + 59.84
®

‘ 0.1232+ 0.003819

180

- =T T

170

o0

160

150

140

130

'IIII|IIII|IIII|IIII|IIII|IIII|III

| Chip 1, Channel 2, Enable 1, DAC=4000, ADC Noise vs Hold |

11

10

\,
'II|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III

| Chip 1, Channel 2, Enable 1, DAC=4000, ADC Residuals vs Hold |

¢ ¢ é
10 QQQ o0 ¢ ﬂ@
® ®

[T
é %o
. o ééj

-10
-20

-30




180

170

160

150

140

130

120

12

11

10

20

10

-10

-20

-30

-40

| Chip 1, Channel 2, Enable 2, DAC=4000, ADC Mean vs Hold X’ I ndf 1638/ 38
p0 179.3+ 1.026
- pl 235.6 £ 8.093
— Q p2 -95.34+ 164.8
= 1) ® _p3- - 57.15 + 84.15
= 00,® 09950,0 0 0e® - - 0.1153: 0.00388
= o
— o
- ®
= [
S
— @
-I_— 1 1 1 I 1 1 1 1 I 1 I 1 1 I 1 1 1 1 I 1
50 100 150 200 250
| Chip 1, Channel 2, Enable 2, DAC=4000, ADC Noise vs Hold |
:_ 1 1 1 I 1 1 1 1 I 1 I 1 1 I 1 1 1 1 I 1
50 100 150 200 250
| Chip 1, Channel 2, Enable 2, DAC=4000, ADC Residuals vs Hold |
— QQQC e #®
~ Y & O, 4.6 o
- L) .. ® ®
— ® o ( Q PY o
- L .QQ ®
— QQ
- @
mE
- ®
I_ 1 1 1 I 1 1 1 1 I 1 I 1 1 I 1 1 1 1 I 1
50 100 150 200 250




Chip 1, Channel 2, Enable 3!, DAC=4000, ADC Mean vs Hold |

10000

8000

6000

4000

2000

FTT |I 1 |I 1 |I 1 |I 1 |I 1 |I I

331/39

po -673.8+ 0.6178
pl 4.572 + 0.02463
p2 1.123e+04 + 1.724
p3 31.57 + 0.008834

Chip 1, Channel 2, Enable 3!, DAC=4000, ADC Noise vs Hold |

45
40
35
30
25
20
15

e

® ¢4

10

¢

®e

fIH|III”IIII“III|HII|IHI|IIH|IIII“III|H

0% 0 ¢

00 ¢ 2.%00 %00g, %

[
o

|
100

150

Chip 1, Channel 2, Enable 3!, DAC=4000, ADC Residuals vs Hold |

200

250

25

20

15

10

-10




| Chip 1, Channel 2, Enable 4, DAC=4000, ADC Mean vs Hold | | x°/ndf 2487/ 31
p0 192.2 + 0.03905
= pl 200+ 1.65
= p2 -163.2+ 0.03906
20 .....O‘. p3 56.83+ 0.03907
100 E— ° 0o ®o00 0.1034 + 0.003063
= Py ‘.-";T'T.
180 — e® o T0g 00
1m0 = Y
= L
160 —
- [
150
140 f—
130 f— o
_I I 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I
20 40 60 80 100 120 140 160 180 200 220
| Chip 1, Channel 2, Enable 4, DAC=4000, ADC Noise vs Hold |
10 —
9
- ® ®
88— ¢ [
=
6 —
5 —
4 __|_| 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I
20 40 60 80 100 120 140 160 180 200 220
| Chip 1, Channel 2, Enable 4, DAC=4000, ADC Residuals vs Hold |
20 f_ )
— o0 o
10 — ¢ o ...
— [ ] ...
0— [
- ° S0 *
-10 = Y 0o00
-20 o
30 —
-40 — ®
:I I 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I
20 40 60 80 100 120 140 160 180 200 220




Chip 1

, Channel 3, Enable 0, DAC=4000, ADC Mean vs Hold | [ x?/ndf 140.6 /38

210

200

190

180

170

160

150

140

p0 204.9+ 0.5231

pl 80.73 + 0.8059

(7Y p2 -3.463e+07 + 1.179e+06
@ el 2.806e+07 = 7.419e+05
_1.169 + 0.02557

TIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I

Chip 1

, Channel 3, Enable 0, DAC=4000, ADC Noise vs Hold |

11

10

Chip 1, Channel 3, Enable 0, DAC=4000, ADC Residuals vs Hold |

" %
; % ?
i + LERRBARE +++ W

TI|III|III|III|III|III|III|III|III|I




| Chip 1, Channel 3, Enable 1, DAC=4000, ADC Mean vs Hold | [ x°/ndf 1427138

p0 207.7 £ 0.5084

- pl 77.44 £ 0.5613

- Y p2 -2.879e+07 = 4.817e+05

210 = 2.357e+07 + 7.139e+05

- 1.174 £ 0.0174
200 —

= 00 "o

190 —
180 |—
170 —
160 —
150 —

| Chip 1, Channel 3, Enable 1, DAC=4000, ADC Noise vs Hold |

11

10

‘|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III

| Chip 1, Channel 3, Enable 1, DAC=4000, ADC Residuals vs Hold |

¢
! e #+ AR

TII|III|III|III|III|III|III|III|III|I
—@—
—@—
—@—
—@—
—@—
—@—

ol
o
=
o
S
=
IS
]
N
o
S
N
(621 =
]



Chip 1, Channel 3, Enable 2, DAC=4000, ADC Mean vs Hold |
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Chip 1, Channel 4, Enable 1!, DAC=4000, ADC Mean vs Hold
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Chip 1, Channel 5, Enable 1, DAC=4000, ADC Mean vs Hold
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Chip 1, Channel 8, Enable 4, DAC=4000, ADC Mean vs Hold
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| Chip 1, Channel 9, Enable 0, DAC=4000, ADC Mean vs Hold | | x°/ndf 2620 /38
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| Chip 1, Channel 9, Enable 2, DAC=4000, ADC Mean vs Hold | | x°/ndf 3342/ 38
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Chip 1, Channel 9, Enable 4, DAC=4000, ADC Mean vs Hold | x° / ndf 143.9/31
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| Chip 1, Channel 10, Enable 1, DAC=4000, ADC Mean vs Hold || x°/ndf 291.4/38
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| Chip 1, Channel 10, Enable 3, DAC=4000, ADC Mean vs Hold || x°/ndf 287.3/38
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Chip 1, Channel 10, Enable 4, DAC=4000, ADC Mean vs Hold
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| Chip 1, Channel 11, Enable 1, DAC=4000, ADC Mean vs Hold || Xx°/ndf 173.2/38
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| Chip 1, Channel 11, Enable 2, DAC=4000, ADC Mean vs Hold
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Chip 1, Channel 11, Enable 3!, DAC=4000, ADC Mean vs Hold
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Chip 1, Channel 11, Enable 4, DAC=4000, ADC Mean vs Hold | X° / ndf 171.3/31
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| Chip 1, Channel 12, Enable 0, DAC=4000, ADC Mean vs Hold || x°/ndf 70.46 / 38

po 138.7 + 0.5403

— 80.76 + 0.847

140 E— -2.964e+07 + 8.544e+05

- 2.997e+07 + 1.293e+06

- T -7 _ +-0.9403+ 0.02046
120 —
110 —
100 —
% -

80 L L !

| Chip 1, Channel 12, Enable 0, DAC=4000, ADC Noise vs Hold |

12

11

10

—@—
—@—
—@—
—@—
—@—

'I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II

ol
o
=
o
S
=
al
]
N
o
S
N
al
]

| Chip 1, Channel 12, Enable 0, DAC=4000, ADC Residuals vs Hold |

8

6




| Chip 1, Channel 12, Enable 1, DAC=4000, ADC Mean vs Hold | X° / ndf 105.6 /38
pO 141.8 + 0.5465
150 £ pl 8256+ 1.1
= ® p2 -5.9e+07 + 1.791e+06
- ® o0 ® | - _ 6.033e+07 + 5.721e+05
140 — “p4t T - L T - 0.9532+ 0.02816
= A
130 —
120 —
110 —
100 —
90 —
80 e I I 1 1 I 1 1 1 1 I 1
50 100 150 200 250

| Chip 1, Channel 12, Enable 1, DAC=4000, ADC Noise vs Hold |

12

10

—@—
—@—
—@—
—@—
—@—
—@—
—@—
—@—

o
'II|III|III|III|III|I

al
o
=
o
o
-
a
o
N
o
o
N
A
o

| Chip 1, Channel 12, Enable 1, DAC=4000, ADC Residuals vs Hold |

=
——
O

—@—
—@—
—@—

1||||||||||I|\JII|C|)III|III|III|III|I
—@—
—@—
—@—
o
—@—
—@—
—@—
—@—
—@—
—@—
—@—

| |
50 100 150 200 250



Chip 1, Channel 12, Enable 2, DAC=4000, ADC Mean vs Hold || x°/ndf 9.277e+04 /38
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Chip 1, Channel 12, Enable 3, DAC=4000, ADC Mean vs Hold
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Chip 1, Channel 12, Enable 4!, DAC=4000, ADC Mean vs Hold X’ I ndf 140.8/32
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Chip 1, Channel 13, Enable 0, DAC=4000, ADC Mean vs Hold
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Chip 1, Channel 13, Enable 1!, DAC=4000, ADC Mean vs Hold
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Chip 1, Channel 13, Enable 3, DAC=4000, ADC Mean vs Hold || X°/ndf 139.6/38
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Chip 1, Channel 16, Enable 0, DAC=4000, ADC Mean vs Hold
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Chip 1, Channel 16, Enable 2!, DAC=4000, ADC Mean vs Hold
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Chip 2, Channel 0, Enable 4, DAC=4000, ADC Mean vs Hold

500

490

480

470

460

450

440

430

420

56.2 /31

378.2+ 3.26
16.62 + 0.8758
140.9+ 3.431
30.15+ 1.271
-0.1732+ 0.0143

N
o

100 120 140

Chip 2

, Channel 0, Enable 4, DAC=4000, ADC Noise vs Hold

12

11

10

1

60

1

80

200

220

-II|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

+

N

0

100 120 140

1

Chip 2

, Channel 0, Enable 4, DAC=4000, ADC Residuals vs Hold

60

180

200

2

20

ll|III|III|III|III|III|III|III|I

—@—
—@—
—@—

i

SRR

% 4 9

?

!
!

N
o

N
o

120 140

1

60

180

200

2

20



Chip 2, Channel 1, Enable 0, DAC=4000, ADC Mean vs Hold

490

480

470

460

450

440

430

420

X~/ ndf 105.37/38
pO 373.2+ 3.065
pl 19.64 + 0.8271
p2 133.2+3.183

26.31+ 0.9223
-0.173 + 0.008488

Chip 2, Channel 1, Enable 0, DAC=4000, ADC Noise vs Hold

11

10

]‘IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

Chip 2, Channel 1, Enable 0, DAC=4000, ADC Residuals vs Hold

o
I|III|III|III|III|III|III|III|III|II

: H
+

AN

!

SR




Chip 2, Channel 1, Enable 1, DAC=4000, ADC Mean vs Hold
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| Chip 2, Channel 2, Enable 1, DAC=4000, ADC Mean vs Hold | | x°/ndf 83.08/38
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| Chip 2, Channel 2, Enable 3, DAC=4000, ADC Mean vs Hold | | x°/ndf 48.21/38
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| Chip 2, Channel 3, Enable 0, DAC=4000, ADC Mean vs Hold | X° / ndf 96.66 / 38
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Chip 2, Channel 3, Enable 1!, DAC=4000, ADC Mean vs Hold | X° / ndf 544.8 | 39
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| Chip 2, Channel 3, Enable 2, DAC=4000, ADC Mean vs Hold | x° / ndf 86.81/38
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| Chip 2, Channel 3, Enable 3, DAC=4000, ADC Mean vs Hold | | x°/ndf 71.61/38
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| Chip 2, Channel 4, Enable 0, DAC=4000, ADC Mean vs Hold | | x°/ndf 164.3 /38
po 466+ 2.99
: pl 4.548 + 0.7244
L p2 272.7+ 3.03
720 — ... p3 24.01+ 0.6663
- -0.1503 + 0.007519
700 — o
680 _—
660 _—
640 _—

| Chip 2, Channel 4, Enable 0, DAC=4000, ADC Noise vs Hold |

12

11

10

~
'||IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II

| Chip 2, Channel 4, Enable 0, DAC=4000, ADC Residuals vs Hold |

!

||||||||||||||IITIII'|\)III|III|III|III
.
-
—@—
—@—
—@—
—@—
—@—
—@—
—@—
—@—
—@—
—@—
—@—
—@—
—@—
—@—

Ry o

ol
o
=
o
S
=
IS
]
N
o
S
N
(621 =
]



| Chip 2, Channel 4, Enable 1, DAC=4000, ADC Mean vs Hold | | x°/ndf 97.85/38
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| Chip 2, Channel 4, Enable 2, DAC=4000, ADC Mean vs Hold | | x°/ndf 74.55/38
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| Chip 2, Channel 4, Enable 3, DAC=4000, ADC Mean vs Hold | | x°/ndf 62.08/38
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Chip 2, Channel 4, Enable 4!, DAC=4000, ADC Mean vs Hold |
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Chip 2, Channel 5, Enable 1!, DAC=4000, ADC Mean vs Hold |
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| Chip 2, Channel 5, Enable 2, DAC=4000, ADC Mean vs Hold | | x°/ndf 72.78/38
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| Chip 2, Channel 5, Enable 3, DAC=4000, ADC Mean vs Hold | X° / ndf 73.11/38
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| Chip 2, Channel 5, Enable 4, DAC=4000, ADC Mean vs Hold | | x°/ndf 74.51/31
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| Chip 2, Channel 6, Enable 0, DAC=4000, ADC Mean vs Hold | [ x*/ndf 143.6/ 38
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| Chip 2, Channel 6, Enable 1, DAC=4000, ADC Mean vs Hold | | x°/ndf 87.46 /38
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Chip 2, Channel 6, Enable 2!, DAC=4000, ADC Mean vs Hold
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| Chip 2, Channel 6, Enable 3, DAC=4000, ADC Mean vs Hold | | x°/ndf 63.95/38
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Chip 2, Channel 6, Enable 4, DAC=4000, ADC Mean vs Hold | | x°/ndf 76.22/31
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| Chip 2, Channel 7, Enable 0, DAC=4000, ADC Mean vs Hold | | x°/ndf 107/38
p0 371.9+ 3.075

pl 23.71+ 0.614
o9 p2 146+ 3.171

22.65 £ 0.6506
-0.1831+ 0.007707

500

480 ()
460

440

420

400 L

| Chip 2, Channel 7, Enable 0, DAC=4000, ADC Noise vs Hold |

12

11

10

'III|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I

| Chip 2, Channel 7, Enable 0, DAC=4000, ADC Residuals vs Hold |

8

6

it
b ﬂi &




Chip 2, Channel 7, Enable 1, DAC=4000, ADC Mean vs Hold |
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| Chip 2, Channel 7, Enable 2, DAC=4000, ADC Mean vs Hold | X° / ndf 109.3/38
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p0 375.4+ 3.078
| pl 20.57 + 0.8389
500 - 02 141.8+ 3.25
L p3 32.23+1.092
L 4 . -0.1879+ 0.01075
480 — "p_'—"iI!...
460 —
440 L
420 L

| Chip 2, Channel 7, Enable 3, DAC=4000, ADC Noise vs Hold |

12

10

©
'I|III|III|III|III|II

| Chip 2, Channel 7, Enable 3, DAC=4000, ADC Residuals vs Hold |

6
4

2

; H

N
'III|III|III|III|III|III|III|III|




Chip 2, Channel 7, Enable 4, DAC=4000, ADC Mean vs Hold
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Chip 2, Channel 8, Enable 1, DAC=4000, ADC Mean vs Hold
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| Chip 2, Channel 8, Enable 3, DAC=4000, ADC Mean vs Hold | [ x°/ndf 69.82/38
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Chip 2, Channel 8, Enable 4, DAC=4000, ADC Mean vs Hold

54.99 /31

389.1+ 3.281

550

540

530

520

510

500

490

480

470

-IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|

9.04+ 0.9661
178.4 + 3.458
33.39+ 1.362
~-0.1927 + 0.01515

20 20 50 80 100 120

120 160 180 200 220

Chip 2, Channel 8, Enable 4, DAC=4000, ADC Noise vs Hold |

12

10

-III|III|III|III|III|I

120

N
o
D
o
[e2]
o
0]
o
'_‘_
o
o

140 160 180 200 220

Chip 2, Channel 8, Enable 4, DAC=4000, ADC Residuals vs

Hold |

6

4

N
-III|III|III|III|III|III|III|III|I

N
o
N
o
[e2]
o
0]
o
'_‘_
o
o

120

140 160 180 200 220



Chip 2, Channel 9, Enable 0!, DAC=4000, ADC Mean vs Hold |
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| Chip 2, Channel 9, Enable 3, DAC=4000, ADC Mean vs Hold | | x°/ndf 85.19/38
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Chip 2, Channel 10, Enable 1, DAC=4000, ADC Mean vs Hold ][ x*/ndf 105/38
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Chip 2, Channel 10, Enable 3!, DAC=4000, ADC Mean vs Hold X’ I ndf 214.81/39
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| Chip 2, Channel 10, Enable 4, DAC=4000, ADC Mean vs Hold
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Chip 2, Channel 11, Enable 0!, DAC=4000, ADC Mean vs Hold
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Chip 2, Channel 12, Enable 4, DAC=4000, ADC Mean vs Hold |
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Chip 2, Channel 13, Enable 0, DAC=4000, ADC Mean vs Hold
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Chip 2, Channel 14, Enable 1!, DAC=4000, ADC Mean vs Hold
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Chip 2, Channel 15, Enable 2!, DAC=4000, ADC Mean vs Hold
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Chip 2, Channel 16, Enable 4, DAC=4000, ADC Mean vs Hold
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Chip 2, Channel 17, Enable 0, DAC=4000, ADC Mean vs Hold
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Chip 2, Channel 17, Enable 1, DAC=4000, ADC Mean vs Hold
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| Chip 2, Channel 17, Enable 3, DAC=4000, ADC Mean vs Hold

500

490

480

470

460

450

440

430

420

'III|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II

X~/ ndf 57.42738
pO 379.7+ 1.342
pl 17.53 + 0.5832
p2 142.3+ 1.394

35.11+ 1.562

-0.2062 + 0.01405

| Chip2

, Channel 17, Enable 3, DAC=4000, ADC Noise vs Hold

12

11

10

[
o

| Chip 2, Channel 17, Enable 3, DAC=4000, ADC Residuals vs Hold

6

4

+

H’H ? ool o iﬁ

1 I 1 1 1 1 I 1
200 250

1 I 1 1 1 1 I 1
200 250
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Chip 3, Channel 0, Enable 0, DAC=4000, ADC Mean vs Hold
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Chip 3, Channel 0, Enable 1, DAC=4000, ADC Mean vs Hold
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Chip 3, Channel 0, Enable 3!, DAC=4000, ADC Mean vs Hold
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| Chip 3, Channel 0, Enable 4, DAC=4000, ADC Mean vs Hold |
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Chip 3, Channel 1, Enable 1, DAC=4000, ADC Mean vs Hold |
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Chip 3, Channel 2, Enable 0, DAC=4000, ADC Mean vs Hold
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| Chip 3, Channel 2, Enable 1, DAC=4000, ADC Mean vs Hold | | x°/ndf 94.82 /38
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| Chip 3, Channel 2, Enable 2, DAC=4000, ADC Mean vs Hold | X° / ndf 86.26 / 38
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Chip 3, Channel 2, Enable 3!, DAC=4000, ADC Mean vs Hold
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Chip 3, Channel 2, Enable 4, DAC=4000, ADC Mean vs Hold
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Chip 3, Channel 3, Enable 0, DAC=4000, ADC Mean vs Hold | | x°/ndf 143.6/38
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| Chip 3, Channel 3, Enable 1, DAC=4000, ADC Mean vs Hold | [ Xx®/ndf 76.91/38

pO 153.7+ 0.5214

160 F— pl 78.22+ 1.098

- p2 -2.037e+07 + 8.388e+05

= 1.831e+07 £ 4.274e+05

150 - -1.083% 0.03768
140 —
130 —
120 —
110 —
100 —

90 e :

| Chip 3, Channel 3, Enable 1, DAC=4000, ADC Noise vs Hold |

12

11

10

o
II|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II

ol
o
=
o
S
=
al
]
N
o
S
N
al
]

| Chip 3, Channel 3, Enable 1, DAC=4000, ADC Residuals vs Hold |

: ﬂ

6

'II|III|IIITIIITIII|III|III|I
—@—
—@—
—@—
—@—

ol
o
=
o
S
=
IS
]
N
o
S
N
(621 =
]



| Chip 3, Channel 3, Enable 2, DAC=4000, ADC Mean vs Hold | | x°/ndf 81.15/38
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| Chip 3, Channel 3, Enable 3, DAC=4000, ADC Mean vs Hold | | x°/ndf 134.5/38
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Chip 3, Channel 3, Enable 4!, DAC=4000, ADC Mean vs Hold |
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| Chip 3, Channel 4, Enable 0, DAC=4000, ADC Mean vs Hold | | x°/ndf 3025/38
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Chip 3, Channel 4, Enable 1!, DAC=4000, ADC Mean vs Hold
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| Chip 3, Channel 4, Enable 2, DAC=4000, ADC Mean vs Hold | | x°/ndf 108.4/38
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| Chip 3, Channel 4, Enable 3, DAC=4000, ADC Mean vs Hold | | x°/ndf 2854 /38
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| Chip 3, Channel 4, Enable 4, DAC=4000, ADC Mean vs Hold |
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Chip 3, Channel 5, Enable 0, DAC=4000, ADC Mean vs Hold
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Chip 3, Channel 5, Enable 1, DAC=4000, ADC Mean vs Hold |
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| Chip 3, Channel 5, Enable 2, DAC=4000, ADC Mean vs Hold | | x°/ndf 59.44 / 38
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Chip 3, Channel 5, Enable 3, DAC=4000, ADC Mean vs Hold
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Chip 3, Channel 5, Enable 4!, DAC=4000, ADC Mean vs Hold || X°/ndf 282.7/32
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Chip 3, Channel 6, Enable 0, DAC=4000, ADC Mean vs Hold | | x°/ndf 2511738
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| Chip 3, Channel 6, Enable 1, DAC=4000, ADC Mean vs Hold | | x°/ndf 3423 /38
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Chip 3, Channel 6, Enable 2, DAC=4000, ADC Mean vs Hold | | x°/ndf 98.34 /38
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Chip 3, Channel 6, Enable 3, DAC=4000, ADC Mean vs Hold
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Chip 3, Channel 6, Enable 4, DAC=4000, ADC Mean vs Hold | | x*/ndf 236.5/31
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| Chip 3, Channel 7, Enable 0, DAC=4000, ADC Mean vs Hold | | x°/ndf 215.7/38
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| Chip 3, Channel 7, Enable 1, DAC=4000, ADC Mean vs Hold | [ Xx®/ndf 81.61/38
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Chip 3, Channel 7, Enable 2!, DAC=4000, ADC Mean vs Hold || X°/ndf 182.9/39
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| Chip 3, Channel 7, Enable 3, DAC=4000, ADC Mean vs Hold | | x°/ndf 196.1/38
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Chip 3, Channel 7, Enable 4, DAC=4000, ADC Mean vs Hold | | x°/ndf 270/31
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Chip 3, Channel 8, Enable 4, DAC=4000, ADC Mean vs Hold | X° / ndf 206.1/31

po 81.94+ 0.5852

L pl 81.02+ 0.6008

80 — p2 -6.379e+07 + 1.076e+06

— p3 3.657e+07 + 1.816e+05

— 4 1.531+ 0.02954
60 —

— o

a0 [—
20 [—
ol—

20 20 50 80 00 120 120 160 180 200 220

Chip 3, Channel 8, Enable 4, DAC=4000, ADC Noise vs Hold |

12

10

20 40 60 80 100 120 140 160 180 200 220

Chip 3, Channel 8, Enable 4, DAC=4000, ADC Residuals vs Hold |

10

-10

-15

+++§

I

¢ ¢ §§§§
¢ §+

i Sy e

20 40 60 80 100 120 140 160 180 200 220



Chip 3, Channel 9, Enable 0, DAC=4000, ADC Mean vs Hold |
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Chip 3, Channel 9, Enable 1, DAC=4000, ADC Mean vs Hold
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Chip 3, Channel 9, Enable 2, DAC=4000, ADC Mean vs Hold | | x°/ndf 142.5/38
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Chip 3, Channel 9, Enable 4, DAC=4000, ADC Mean vs Hold | X° / ndf 257 /31
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Chip 3, Channel 10, Enable 0!, DAC=4000, ADC Mean vs Hold
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Chip 3, Channel 10, Enable 1, DAC=4000, ADC Mean vs Hold || X°/ndf 116.6/38
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Chip 3, Channel 10, Enable 2, DAC=4000, ADC Mean vs Hold | X° / ndf 155.7/38
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Chip 3, Channel 10, Enable 4, DAC=4000, ADC Mean vs Hold | X° / ndf 300.6 /31
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Chip 3, Channel 11, Enable 1, DAC=4000, ADC Mean vs Hold
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| Chip 3, Channel 11, Enable 2, DAC=4000, ADC Mean vs Hold
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Chip 3, Channel 11, Enable 3!, DAC=4000, ADC Mean vs Hold
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Chip 3, Channel 11, Enable 4, DAC=4000, ADC Mean vs Hold || x°/ndf 2274131
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Chip 3, Channel 12, Enable 2, DAC=4000, ADC Mean vs Hold || x°/ndf 8.774e+04 /38

-19.56 £ 0.9175

155.3+ 0.1045
-7.378e+08 + 1.264e+07
7.422e+07 + 1.237e+06
12.25+ 0.0112

200

0

-200

-400

-600

-800

-1000

-1200

-1400

'III|III|III|III|III|III|III|III|III|I

|
250

Chip 3, Channel 12, Enable 2, DAC=4000, ADC Noise vs Hold |

18

16
14
12

10

to
#a e

50 100 150 200 250

Chip 3, Channel 12, Enable 2, DAC=4000, ADC Residuals vs Hold |

500 o
400
300
200

100

-100

-200




Chip 3, Channel 12, Enable 3, DAC=4000, ADC Mean vs Hold || X°/ndf 1002 /38
p0 19.04 + 0.2732
— pl 105+ 0.06733
30— p2 -3.073e+07 + 1.414
- p3 1.064e+08+ 1.414
20 _gve . _ . 0.2799+ 0.00388
— [ ]
JE %% Yoe%e% " e%,
0
-10 —
-20 —
-30 :_ DQ
d:— 1 1 1 I 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

Chip 3, Channel 12, Enable 3, DAC=4000, ADC Noise vs Hold |

12

10

o
'I|III|III|III|III|II

Chip 3, Channel 12, Enable 3, DAC=4000, ADC Residuals vs Hold |

0 6000
: dot Q{'{»‘é“{'i«}ﬁ o
g_ Qé ¢ Qééééégééééﬂiég
-10 :_ é
b ¢
W ¢




Chip 3, Channel 12, Enable 4!, DAC=4000, ADC Mean vs Hold
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Chip 3, Channel 13, Enable 0, DAC=4000, ADC Mean vs Hold || x°/ndf 3282/38
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Chip 3, Channel 13, Enable 2, DAC=4000, ADC Mean vs Hold
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Chip 3, Channel 13, Enable 3, DAC=4000, ADC Mean vs Hold || X°/ndf
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Chip 3, Channel 13, Enable 4, DAC=4000, ADC Mean vs Hold
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Chip 3, Channel 14, Enable 0, DAC=4000, ADC Mean vs Hold || X°/ndf 152.9/38
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Chip 3, Channel 14, Enable 2, DAC=4000, ADC Mean vs Hold || X°/ndf 2421/38
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Chip 3, Channel 14, Enable 3, DAC=4000, ADC Mean vs Hold
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Chip 3, Channel 14, Enable 4!, DAC=4000, ADC Mean vs Hold
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Chip 3, Channel 15, Enable 0, DAC=4000, ADC Mean vs Hold | X° / ndf 156.3 /38
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Chip 3, Channel 15, Enable 1, DAC=4000, ADC Mean vs Hold
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Chip 3, Channel 15, Enable 2, DAC=4000, ADC Mean vs Hold || X°/ndf 2754138
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Chip 3, Channel 15, Enable 3, DAC=4000, ADC Mean vs Hold || x°/ndf 158.6 /38
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Chip 3, Channel 15, Enable 4, DAC=4000, ADC Mean vs Hold | X° / ndf 198.9/31
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| Chip 3, Channel 16, Enable 1, DAC=4000, ADC Mean vs Hold | X° / ndf 87.04 /38
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Chip 3, Channel 16, Enable 2!, DAC=4000, ADC Mean vs Hold

149.9/39

p0 -753.5+ 0.7118

il pl 4.943 + 0.02866

10000 I~ 02 1.048e+04 + 1.467

- p3 32.37+ 0.01018
8000 [—
6000 |—'
4000 [—
2000 [—
ol—

"__ 1 1 1 I 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

Chip 3, Channel 16, Enable 2!, DAC=4000, ADC Noise vs Hold |

35
30
25
20
15

{'ﬁ'}

10

’

100 150

Chip 3, Channel 16, Enable 2!, DAC=4000, ADC Residuals vs Hold

|
200

250

15

10

—@—

. o
.

-10

[
o




Chip 3, Channel 16, Enable 3, DAC=4000, ADC Mean vs Hold | x° / ndf 165/38
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Chip 3, Channel 16, Enable 4, DAC=4000, ADC Mean vs Hold | X° / ndf 4128/31
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Chip 3, Channel 17, Enable 0, DAC=4000, ADC Mean vs Hold

|| x*/ndf

90

80

70

60

50

40

30

20

10

150.1/38
81.3+ 0.5728
76.56 + 0.8524

-3.188e+07 + 8.951e+05

2.246e+07 + 2.517e+05
- 1.367+ 0.03739
o

Chip 3,

Channel 17, Enable 0, DAC=4000, ADC Noise vs Hold

12

11

10

1|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II

[
o

Chip 3, Channel 17, Enable 0, DAC=4000, ADC Residuals vs Hold |

-10

'III|III|III|III|III|III|III|III|III|III

e

’ H# ¢

¢ : “t

ft

t
‘H'} 4

y

¥

%
!




Chip 3, Channel 17, Enable 1, DAC=4000, ADC Mean vs Hold || X°/ndf 3490/38
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Chip 3, Channel 17, Enable 3, DAC=4000, ADC Mean vs Hold | X° / ndf 165.3/38
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Chip 3, Channel 17, Enable 4, DAC=4000, ADC Mean vs Hold
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10000

167.2/39
-459.4+ 0.7039
4.452 + 0.02077
1.078e+04 + 1.201
31.61+ 0.009518

8000

6000

4000

2000

Chip 4, Channel 0, Enable 0!, DAC=4000, ADC Noise vs Hold |

45

40

35

30

25

20

15

10

* +i+

%4 ¢
TIPS NI RO

| | |
150 200 250

Chip 4, Channel 0, Enable 0!, DAC=4000, ADC Residuals vs Hold |

20

15

10

-10

'IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

@~

o
% §§+§+§%§éﬁé§§§é§§




Chip 4, Channel 0, Enable 1, DAC=4000, ADC Mean vs Hold |
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| Chip 4, Channel 0, Enable 4, DAC=4000, ADC Mean vs Hold
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Chip 4, Channel 1, Enable 0, DAC=4000, ADC Mean vs Hold
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Chip 4, Channel 1, Enable 4, DAC=4000, ADC Mean vs Hold |
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Chip 4, Channel 2, Enable 0!, DAC=4000, ADC Mean vs Hold |
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| Chip 4, Channel 2, Enable 1, DAC=4000, ADC Mean vs Hold |
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| Chip 4, Channel 2, Enable 2, DAC=4000, ADC Mean vs Hold | | x°/ndf 74.1/38
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| Chip 4, Channel 2, Enable 3, DAC=4000, ADC Mean vs Hold | | x°/ndf 80.19/38
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| Chip 4, Channel 3, Enable 0, DAC=4000, ADC Mean vs Hold | | x°/ndf 52.2/38
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Chip 4, Channel 3, Enable 1!, DAC=4000, ADC Mean vs Hold || x°/ndf 330.1/39
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| Chip 4, Channel 3, Enable 2, DAC=4000, ADC Mean vs Hold | | x°/ndf 149.1/38
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Chip 4, Channel 3, Enable 3, DAC=4000, ADC Mean vs Hold |
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Chip 4, Channel 3, Enable 4, DAC=4000, ADC Mean vs Hold |
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| Chip 4, Channel 4, Enable 0, DAC=4000, ADC Mean vs Hold | x° / ndf 3736/38
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Chip 4, Channel 4, Enable 1, DAC=4000, ADC Mean vs Hold |
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| Chip 4, Channel 4, Enable 2, DAC=4000, ADC Mean vs Hold | | x°/ndf 2398 /38
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| Chip 4, Channel 4, Enable 3, DAC=4000, ADC Mean vs Hold | | x°/ndf 141.7/38
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Chip 4, Channel 4, Enable 4!, DAC=4000, ADC Mean vs Hold |
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Chip 4, Channel 5, Enable 0, DAC=4000, ADC Mean vs Hold
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Chip 4, Channel 5, Enable 1!, DAC=4000, ADC Mean vs Hold |
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Chip 4, Channel 5, Enable 2, DAC=4000, ADC Mean vs Hold | | x°/ndf 2294 /38
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| Chip 4, Channel 5, Enable 3, DAC=4000, ADC Mean vs Hold | | x°/ndf 1610/38
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| Chip 4, Channel 5, Enable 4, DAC=4000, ADC Mean vs Hold |
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| Chip 4, Channel 6, Enable 0, DAC=4000, ADC Mean vs Hold |
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Chip 4, Channel 6, Enable 1, DAC=4000, ADC Mean vs Hold
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Chip 4, Channel 6, Enable 2!, DAC=4000, ADC Mean vs Hold

10000

8000

6000

4000

2000

| [ x*/ndf 140.2739
poO -509.1+ 0.6455
pl 4.469 % 0.02657
p2 1.13e+04+ 1.63
p3 31.9.+ 0.008709

]
o

Chip 4, Channel 6, Enable 2!, DAC=4000, ADC Noise vs Hold |

40

35

30

25

20

15

10

—@—

@
4
@
H@H

HH+

Q..

+++§

é.iéoiéééﬁﬁféin.ﬁé

[
o

100

|
150

|
200

Chip 4, Channel 6, Enable 2!, DAC=4000, ADC Residuals vs Hold |

25

20

15

10

-10

250

1IIII|IIII|IIII|IIII|IIII|IIII|IIII|

iy
R % !
' # "%

ﬁ

§§{';

#°

|
150

200




Chip 4

, Channel 6, Enable 3, DAC=4000, ADC Mean vs Hold |

400

390

380

370

360

350

340

330

320

o ...Q.Om...O“. 000

310

]‘IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|

3121/38
391.5+ 0.2474
243.4 £ 2.443
109.6 + 84.85
53.66 £ 1.414

—4 s _ - 0.1013+ 0.002014
%0

50

Chip 4

, Channel 6, Enable 3, DAC=4000, ADC Noise vs Hold |

12

11

10

'III|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

Chip 4, Channel 6, Enable 3, DAC=4000, ADC Residuals vs Hold |

20

10

-10

-20

-30

-40

-50

-60




| Chip 4, Channel 6, Enable 4, DAC=4000, ADC Mean vs Hold | | x°/ndf 117.7/31
po 385.8 + 0.5676
= pl 77.95+ 0.8559
390 = PP p2 -2.276e+07 + 1.087e+06
- - p3- 1.721e+07 + 7.047e+05
380 = - pd- - - - 12524003232
— W v W
370 —
360
350
su0
330 F—
320
—:0- 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I
20 40 60 80 100 120 140 160 180 200 220
| Chip 4, Channel 6, Enable 4, DAC=4000, ADC Noise vs Hold |
=
o))
— [ ? g
= ° °
=
6 —
51—
4 _I_I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I
20 40 60 80 100 120 140 160 180 200 220

Chip 4, Channel 6, Enable 4, DAC=4000, ADC Residuals vs Hold |

’
+%+ % ; %%*
¢

}%++++
+ #;

?
%+ %§++%++ 2

o
III|III|III|III|III|III|III|III|III|I

-10

N
o
N
o
[e2]
o
0]
o
'_‘_
o
o

120 140 160 180 200

220
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Chip 4, Channel 7, Enable 4, DAC=4000, ADC Mean vs Hold
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Chip 4, Channel 9, Enable 2, DAC=4000, ADC Mean vs Hold | x° / ndf 6296 / 38
pO 4451+ 1.277
200 — pl 441.4+ 0.6181
— ® p2 -8.034 + 0.5485
~ ...‘.Q .QO....... p3 66.29 + 0.1451
380 [— o p4 0.2198+ 0.003754
360 [—
340 [—
320 — ®
— o
300 —
Z o
I_ 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1
50 100 150 200 250

Chip 4, Channel 9, Enable 2, DAC=4000, ADC Noise vs Hold |

12

11

10

©
III|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

GRRIRRE BIPE A

50 100 150 200 250

Chip 4, Channel 9, Enable 2, DAC=4000, ADC Residuals vs Hold |

20 - .“.. (]
— 000 (
— [ L )

E Y %0o000,

- ® 00%0000
- ([ J

20 — () o
— ()

40 —
- [

-60 — .
. 1 1 1 I 1 1 1 1 I 1 1 1 1 1 1 1 1 I 1 1 1 1 1




Chip 4, Channel 9, Enable 3, DAC=4000, ADC Mean vs Hold
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Chip 4, Channel 10, Enable 0, DAC=4000, ADC Mean vs Hold
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Chip 4, Channel 10, Enable 4, DAC=4000, ADC Mean vs Hold || X°/ndf 2447131
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Chip 4, Channel 11, Enable 0!, DAC=4000, ADC Mean vs Hold
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Chip 4, Channel 11, Enable 1, DAC=4000, ADC Mean vs Hold || x°/ndf 67.86/38
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Chip 4, Channel 11, Enable 3, DAC=4000, ADC Mean vs Hold
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Chip 4, Channel 11, Enable 4, DAC=4000, ADC Mean vs Hold
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Chip 4, Channel 12, Enable 2, DAC=4000, ADC Mean vs Hold || X°/ndf 7.218e+04 /38

304 + 1.069

155.5+ 0.1086
-5.297e+08 + 4.508e+06
5.368e+07 + 4.139e+05
12.1+ 0.01103

600

400

200

0

-200

-400

-600

-800

-1000

T|III|III|III|III|III|III|III|III|III|

-1200

Chip 4, Channel 12, Enable 2, DAC=4000, ADC Noise vs Hold |

18

16

14

12

10

|||||||||||||||||I||II|III|III|I
—@—
—@—
—@—
—@—
—@—
s 3
@
—@—
—@—
—@—
—@—
—@—
s
—@—
—@—
<

Chip 4, Channel 12, Enable 2, DAC=4000, ADC Residuals vs Hold |

500

400

300

200

100

0

-100

-200

'|I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I




Chip 4

, Channel 12, Enable 3, DAC=4000, ADC Mean vs Hold || x/ndf

330

320

310

300

290

280

88.2/38

328.8+ 0.5613

90.48 + 1.419

-1.557e+07 + 6.958e+05

1.972e+07 £ 6.12e+05

0.7188+ 0.02669
| J

Chip 4

, Channel 12, Enable 3, DAC=4000, ADC Noise vs Hold |

12

11

10

fII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III

al
o
=
o
o
-
a
o
N
o
o

Chip 4

, Channel 12, Enable 3, DAC=4000, ADC Residuals vs Hold |

‘1t
4

'I|III|III|III|III|III|III|III|III
—@—
—@—
—@—
—@—

%#

al
o
=
o
o
-
Q-
o
N
o
o




| Chip 4, Channel 12, Enable 4, DAC=4000, ADC Mean vs Hold || x°/ndf 1115731
p0 328.2+ 0.577
= p1 204.7 + 0.02906
330 — p2 -1787+ 52.44
- 00%,00 i@. p3, 38.52 + 1.296
- o é ® 4 - - 0.1168 + 0.005652
320 — LK Q_g L @
- ® QQQC
310 —
- *®
300 — ®
290 [— .é
280 [— ®
L I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I
20 40 60 80 100 120 140 160 180 200 220

| Chip 4, Channel 12, Enable 4, DAC=4000, ADC Noise vs Hold |

12
11

10

v %

0 40 60 80 100 120 140 160 180 200 220

N

| Chip 4, Channel 12, Enable 4, DAC=4000, ADC Residuals vs Hold |

15

10

o _o0®
ééé éé éééiéégg ‘
oo *e9%%50
¢ ®e 00

é®
®

20 40 60 80 100 120 140 160 180 200 220

5
0 ®
-5
-10
-15
-20

-25

-30




Chip 4, Channel 13, Enable 0, DAC=4000, ADC Mean vs Hold || X°/ndf 147.9/38
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Chip 4, Channel 13, Enable 3, DAC=4000, ADC Mean vs Hold
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Chip 4, Channel 13, Enable 4!, DAC=4000, ADC Mean vs Hold
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Chip 4, Channel 14, Enable 1!, DAC=4000, ADC Mean vs Hold
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Chip 4, Channel 15, Enable 0, DAC=4000, ADC Mean vs Hold |
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Chip 4, Channel 15, Enable 2!, DAC=4000, ADC Mean vs Hold X° / ndf 41.95/39
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| Chip 4, Channel 15, Enable 4, DAC=4000, ADC Mean vs Hold
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Chip 4, Channel 16, Enable 0, DAC=4000, ADC Mean vs Hold
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Chip 4, Channel 16, Enable 1, DAC=4000, ADC Mean vs Hold |
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Chip 4, Channel 17, Enable 2!, DAC=4000, ADC Mean vs Hold X° / ndf 126.4 /39
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| Chip 4, Channel 17, Enable 3, DAC=4000, ADC Mean vs Hold | X° / ndf 50.2/38
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| Chip 4, Channel 17, Enable 4, DAC=4000, ADC Mean vs Hold
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Chip 5, Channel 3, Enable 2, DAC=4000, ADC Mean vs Hold | | x°/ndf 676.1/38
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Chip 5, Channel 3, Enable 4!, DAC=4000, ADC Mean vs Hold
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Chip 5, Channel 4, Enable 4, DAC=4000, ADC Mean vs Hold |
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| Chip 5, Channel 6, Enable 3, DAC=4000, ADC Mean vs Hold | | x°/ndf 564.7 / 38
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Chip 5, Channel 6, Enable 4, DAC=4000, ADC Mean vs Hold
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Chip 5, Channel 7, Enable 1, DAC=4000, ADC Mean vs Hold | x° / ndf 362.6 /38
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Chip 5, Channel 7, Enable 2!, DAC=4000, ADC Mean vs Hold |

10000

8000

6000

4000

2000

149 /39

-857 + 0.6399
4.515+ 0.02476
1.106e+04 = 1.354
31.24 + 0.008543

Chip 5, Channel 7, Enable 2!, DAC=4000, ADC Noise vs Hold |

45

40

35

30

25

20

15

10

'IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I
—@—

Chip 5, Channel 7, Enable 2!, DAC=4000, ADC Residuals vs Hold

|
250

25

20

15

10




Chip 5, Channel 7, Enable 3, DAC=4000, ADC Mean vs Hold | | x°/ndf 813.4/38
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Chip 5, Channel 7, Enable 4, DAC=4000, ADC Mean vs Hold | | x°/ndf 379.7/31
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Chip 5, Channel 8, Enable 0, DAC=4000, ADC Mean vs Hold | | x°/ndf 317.9/38
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| Chip 5, Channel 8, Enable 1, DAC=4000, ADC Mean vs Hold | x° / ndf 347/38
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| Chip 5, Channel 8, Enable 3, DAC=4000, ADC Mean vs Hold
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Chip 5, Channel 9, Enable 0, DAC=4000, ADC Mean vs Hold | x° / ndf 409.1/38
pO -8.653+ 0.4571
[ pl 236.2+ 0.01316
— D p2 76.01+ 20.37
40— ® p3 47.39+0.181
- o "0.0 p4 -0.2094 + 0.003842
30 —
20 :—
10 —
0
210 —
L 1 | 1

1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I
50 100 150 200 250

Chip 5, Channel 9, Enable 0, DAC=4000, ADC Noise vs Hold |

SR
| ﬁ”ﬂ i +++f”*ﬁ+“++ 4

50 100 150 200 250

Chip 5, Channel 9, Enable 0, DAC=4000, ADC Residuals vs Hold |

+{'§# ; ¢

¢
¢ e ! #{'{'}{' ¢
¢ ¢ X < K

I 1 1 1 1 1 1 1 1 I 1
50 100 150 200 250

10

5

0

-5

-10




| Chip 5, Channel 9, Enable 1, DAC=4000, ADC Mean vs Hold | | x°/ndf 235.3/38
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Chip 5, Channel 9, Enable 3!, DAC=4000, ADC Mean vs Hold |
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| Chip 5, Channel 10, Enable 1, DAC=4000, ADC Mean vs Hold | X° / ndf 521.1/38
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Chip 5, Channel 10, Enable 2, DAC=4000, ADC Mean vs Hold | X° / ndf 1087 /38
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Chip 5, Channel 11, Enable 0, DAC=4000, ADC Mean vs Hold | X° / ndf 161.3/38
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Chip 5, Channel 11, Enable 3!, DAC=4000, ADC Mean vs Hold
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Chip 5, Channel 12, Enable 0, DAC=4000, ADC Mean vs Hold |
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Chip 5, Channel 12, Enable 4!, DAC=4000, ADC Mean vs Hold
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Chip 5, Channel 13, Enable 0, DAC=4000, ADC Mean vs Hold || X°/ndf 352/38
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Chip 5, Channel 13, Enable 1!, DAC=4000, ADC Mean vs Hold
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Chip 5, Channel 13, Enable 2, DAC=4000, ADC Mean vs Hold || x°/ndf 4086 / 38
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Chip 5, Channel 13, Enable 3, DAC=4000, ADC Mean vs Hold || X°/ndf 314.6/38
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Chip 5, Channel 13, Enable 4, DAC=4000, ADC Mean vs Hold || x°/ndf 302.5/31
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Chip 5, Channel 14, Enable 1, DAC=4000, ADC Mean vs Hold | X° / ndf 143.5/38
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Chip 5, Channel 14, Enable 2, DAC=4000, ADC Mean vs Hold || X°/ndf 3129/38
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Chip 5, Channel 14, Enable 4!, DAC=4000, ADC Mean vs Hold
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Chip 5, Channel 15, Enable 0, DAC=4000, ADC Mean vs Hold || x°/ndf

po -52.79 + 0.5921

10 = pl 130+ 0.09098
— oo p2 69.99 + 29.08
— ) ® 4 -0.3546 + 0.009998
— o Q .

0 @

a0

s0f—

0

=

1 1 1 1 1 1 1 1 1 1 ] 1 1 1 1 1 1 1 1 1 ] 1
50 100 150 200 250

Chip 5, Channel 15, Enable 0, DAC=4000, ADC Noise vs Hold |

12

11

10

‘I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I
—@—
—@—
—@—
—@—
—@—
—@—
L
- —@—
—@—
I —@—
- —@—
: L~
—@——
—@—
——
—@—
—@—
—@—
—@—

Chip 5, Channel 15, Enable 0, DAC=4000, ADC Residuals vs Hold |

10

5

0

-5

-10

-15

II|IIII|IIII|IIII|IIII|IIII|
@
i )

1 1 1 1 1 1 1 1 ] 1 1 1 1 1 1 1 1 ] 1
50 100 150 200 250




Chip 5, Channel 15, Enable 1, DAC=4000, ADC Mean vs Hold || x°/ndf 353.8/38
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| Chip 5, Channel 15, Enable 3, DAC=4000, ADC Mean vs Hold || x°/ndf 426.4/38
p0 -53.34 + 1.367
— pl 207.2+ 4,981
— p2 14.24 + 12.38
0 .OQ p3 30.72 + 46.54
- ® p4 -0.2775 % 0.004895
-10 —
-20 —
-30 |—
-40 —
-50 |—
-60 (— .

| Chip 5, Channel 15, Enable 3, DAC=4000, ADC Noise vs Hold |

12

11

10

o
III|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II

|+%+||

150 200 250

[
o
Juny
o
o

| Chip 5, Channel 15, Enable 3, DAC=4000, ADC Residuals vs Hold |

- 956

é %50 ¢ 49,298

-10

-15

'|IIII|IIII|IIII|IIIITIIII|IIII|IIII|
@

-20
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Chip 5, Channel 16, Enable 0, DAC=4000, ADC Mean vs Hold
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Chip 5, Channel 16, Enable 1, DAC=4000, ADC Mean vs Hold || x°/ndf 342.7/38
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Chip 5, Channel 16, Enable 2!, DAC=4000, ADC Mean vs Hold

10000

71.48/39
-678.8+ 0.7065
5.019+ 0.03014

1.059e+04 + 1.632
31.53+ 0.01039

8000

6000

4000

2000

TII|III|III|III|III|III|I

]
o

Chip 5, Channel 16, Enable 2!, DAC=4000, ADC Noise vs Hold |

40

35

30

25

20

15

10

1II|IIII|IIII|IIII|IIII|IIII|IIII|IIII|

Chip 5, Channel 16, Enable 2!, DAC=4000, ADC Residuals vs Hold

250

20

15

10

+ ¢ %ﬁﬁ ﬁ

¢
{w&

|
150

200




Chip 5, Channel 16, Enable 3, DAC=4000, ADC Mean vs Hold |

190

180

437.2/38
137.6+ 1.313
196.3+ 5.237
53.11+ 98.53
241.2 £ 489.1

-0.2712 + 0.004669

170

160

150

140

130

Chip 5, Channel 16, Enable 3, DAC=4000, ADC Noise vs Hold |

12

11

10

\,
'H|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

Chip 5, Channel 16, Enable 3, DAC=4000, ADC Residuals vs Hold

10

{"}{'@{.‘}é X
§§ +§§
® §§§§§§§%

-10
-15

-20

TII|IIII|IIII|IIII|IIII|IIII|IIII|III

¢ ¢
¢ +§§§§9§§ % R §§§§




190

180

170

160

150

140

130

13
12

11

10

15

10

-10

-15

-20

| Chip 5, Channel 16, Enable 4, DAC=4000, ADC Mean vs Hold X’ I ndf 427.3/31
p0 138.6 + 9.886
- pl 200 + 40.93
— Q p2 -26.41+ 170
~ ® p3 50.4 + 251.2
— ® ¢ .Q n4 -0.241+ 0.005363
—r_| I 1 1 1 I 1 1 I 1 1 I 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 I
20 40 60 80 100 120 140 160 180 200 220
| Chip 5, Channel 16, Enable 4, DAC=4000, ADC Noise vs Hold |
—:r I I 1 1 1 I 1 1 I 1 1 I 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I
20 40 60 80 100 120 140 160 180 200 220
| Chip 5, Channel 16, Enable 4, DAC=4000, ADC Residuals vs Hold |
_I_I I 1 1 1 I 1 1 I 1 1 I 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I
20 40 60 80 100 120 140 160 180 200 220




Chip 5, Channel 17, Enable 0, DAC=4000, ADC Mean vs Hold || X°/ndf 458.9 /38
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Chip 5, Channel 17, Enable 1, DAC=4000, ADC Mean vs Hold || X°/ndf
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Chip 5, Channel 17, Enable 2, DAC=4000, ADC Mean vs Hold | X° / ndf 1597 / 38
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Chip 5, Channel 17, Enable 3, DAC=4000, ADC Mean vs Hold | X° / ndf 645.3 /38
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